KITCHEN PULL OUT BASKET , e
ASSEMBLY GUIDE

609/6362—609/6379—609/6386 14

For 300mm / 500mm & 600mm pull out baskets

Components Hardware Tools
You may need the following
2 x Spacer (D) .
1x Basket (A) @ 4XNo.8 X 15MM POZ (F) tools (not included)
t:' g e 1
() 4 x P Clip (E)
4 x No.8 X 38MM POZI (G)
= =
( p p ] 2 x Angle plate (B) .,fﬂ:))‘ /
3
()
% 8 X M4 X 8MM POZI BOLT (H)
== 0
I e — § — S 1 x Pair of slides (C) E
A MAX LOAD 20KG PER BASKET
MIN. CABINET DEPTH REQUIRED—460MM
@ TO CLEAN—DO NOT USE ABRASIVE CLEANERS—MILD SOAP AND WATER ONLY

Take a slide (C) and fully extend. Next, fix the angle plate
(B) to the slide using 2 X M4 x 8mm pozi bolts (H).

These should be screwed through the slide and into
corresponding holes in the short face of the angle plate.

! Make sure the correct holes in the slide are used.

Refer to the illustration Fig 1 as a guide.

(Note: Each runner angle plate (B) has 4 threaded Fig 1.
holes but only 2 will be used)

®

Repeat the process with the remaining slide (C) and
angle plate (B) referring to Fig 2.

Fig 2.

Important—Please read these instructions fully before starting assembly

If you need help or have damaged or missing parts, call the Customer Helpline: 08456 400800



REV2 112012

ASSEMBLY GUIDE—KITCHEN PULL OUT BASKET—609/6362—609/6379—609/6386

@ Fig 3.

Disconnect the inner section of the slide from the outer

section. E EE [ ] [ ] ih ol o0o |

To do this, pull the slide to full extension, then locate the ”
black plastic release mechanism and push the tab

upwards. E EE [ ] [ ) im ono oo I

Whilst holding the tab upwards pull the inner section of << 0, =
the slide away from the main section. See Fig 3. —_—a
=o] = emmw -*b Do g °0° coe |
p————1 | —————p

422mm

| ¢ )
P g
\ : 406mm 1
. \ - <
Fig 4. v 8smm !
| P,
: : : 1 70mm
! —>
1 ! 1
D! L :
E =
CT™ 71 [T T .
L —

Working inside the cabinet & using fitting guide Fig 4, pre-drill 4 x 2mm

(F)

x 12mm deep pilot holes to both sides of the cabinet.

These should be a minimum of 30mm high from the unit base. The exact
height depends on preference (but should be located either above or
below the hinge positions).

Make sure all the pilot holes on both sides of the cabinet are inline, level

& parallel to each other.

SAOCE WOJ4 PIMBIA SE }3UICeD JO 98Pa U0

R - .

E:
1 1 1 1
1 1 1 1
1 1 1 1
1 1 1 1
1 | 1 ]
| == o EEE— R
Hinge Side \
@ Fig 5 7
Identify the hinge side of the cabinet.
Locate stand off spacers (D) between the inner section of the slide and
cabinet wall as shown in Fig 5. (D)
=
Secure with 4 x No.8 x 38mm long wood screws (F) through the correct holes . f

in the slide, through the spacer and into the pre-drilled pilot holes.

Note: the orientation of the slide should be so that the end stop is at the
rear of the cabinet and the grey moulded section is aligned to the front of
the cabinet.

@

On the non-hinge side fit the slide using the pilot hole positions and secure with 4 x No.8 x 15mm screws (G)

Again the grey moulded part of the slide should be aligned towards the cabinet front.



REV2 112012

ASSEMBLY GUIDE—KITCHEN PULL OUT BASKET—609/6362—609/6379—609/6386

Re-connect the outer slide member to the inner slide section

(which is now fixed to the cabinet side).

To do this simply push the inner member into the outer until it

engages with the release mechanism. Refer to Fig 6 =5t Fio 6
ig 6.
L)
= = L J
. . . . I < -]
Extend both slides outside the cabinet (Fig 7). :
)
]
]
)
L
1]
)
)
[}
1]
)
)
]
]
[}
gt =
N
Fig 7.
R TR SOR,
Place the basket (A) on top of the angle plates (Fig 8). ] i L
! (= &
. "
i
i
1
1
T
i
] - )

. ) .

= ||
=

Secure basket (A) to the angle plates by clamping 4 x P clips (E) to —

the basket cross bars. |

Tighten the P clips against the angle plates (B) using 4 x M4 x

8mm pozi bolts (H) as shown in Fig 9. k J

Fig 9.



